
Calcul de I 

 

�â�� = �ℎ� − 2�� ∗ ��
12 = 960��� 

�������� = � ∗ ���12 = 7,32 ∗ 10���� 

Position centre de gravité 

� = 2,25 ∗ 126 + 62,5 ∗ 250126 + 250 = 42,31�� 

���� = � − �2 = 40�� 

�������� = ��2 − � = 20,2�� 

 ��� = 126 ∗ 4,5 = 567��! 

 ������� = 562,5��! 

�" = 2 ∗ ��������� +  ������� ∗ ��������! � + ���� +  ��� ∗ ����! = 2,8343 ∗ 10$��� 

Calcul de k 

% = 3&�ℎ� = 2,7236 ∗ 10'(/� 

Calcul de la force due à l’impact 

* = +2�,ℎ% = 0,0054� 

- = %* = 148%( 

Contrainte max à l’encastrement en z=125-42,31=82,7mm 

. = -ℎ/� = 148000 ∗ 0,4 ∗ 0,08272,8346 ∗ 100$ = 1727 234 


